Selection pp — bb,b — by? pp — tt,t = tX0  pp — 46, q — ax’

mg = 650 GeV mg = 700 GeV mg = 1000 GeV

mg = 1GeV mgo = 50 GeV mg = 100 GeV

Nyt > 3 76.22+0.15 97.81+0.09 80.91+0.29

Hy > 300 GeV 75.20+0.15 95.12+40.13 80.77+0.29

Hss > 300 GeV 46.5540.17 56.99 4 0.30 65.32 4 0.35
Nimyon = 0 46.38 +£0.17 45.99+0.30 65.27 4+ 0.35
fmwon) e =0 46.29+0.17 45.50 4 0.30 65.20 +0.35
Neleetron = 0 46.08 +£0.17 36.89+0.29 64.96 + 0.35
{electxon)  — () 45.85+0.17 36.35 = 0.29 64.69 = 0.35
(hadron) =10 45.4240.17 35.34 4 0.29 64.19 4+ 0.35
A ymise j, > 0.5 45.3140.17 35.20 +0.29 64.03 +0.35
A g, > 0.5 43.19+0.17 33.57 4 0.29 60.84 +0.36
AG g s, > 0.3 40.81+0.17 32.62+0.29 56.93 4 0.36
A g5, > 0.3 39.04+0.17 31.35+0.28 54.15+0.36
Event cleaning 38.84 +0.17 31.214+0.28 53.944+0.36




